INbca048_GL

W,

I

L

L

I

|

v

A

5 el

&

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

A

°
O

Tools Recommended

A

A




Carton No. [Part No. Qty Carton No. |Part No. Qty
34 2 20 2
43 28 21 2
44 6 22 2
45 2 23 |
-3 46 2 24 |
47 2 25 |
48 2 20 6
49 2 21 8
44 22 28 6
45 22 29 0
o3 5() 0 30 4
51 8 31 0
| | 32 4
2 | 33 33 4
3 | 3D 4
4 | 36 117
5 | 37 121
0 2 38 18
7 2 39 18
8 2 40 |
9A 2 41 6
9B | 42 16
9C | 52 24
379 10 4 53 4
11 | H4 4
12 | 5o 6
13 |
14A |
14B |
15 2
16 |
17 2
18 4
2

19




Partno.| Part&Hardvare | Qty. |Description(mm) Partno.| Part&Hardware | Qty. |Description(mm)
1 1 2032 18 .Q 4 1078
2 | 1 2032 19 . 2 1276
3 1 1911 20 S 2 1777
4 1 1911 21 ] 2 1079
5 1 1602 22 9 1184
6 2 1014 23| 1 1 450
7 2 260 24 D 1 1682
8 |—|U 2 1690 25 1 1179
oAl L | 2 1683 26 & 6
9B j=,, 1 1683 27 Q 8
9C 1 1683 o8 @ 6
10 4 | sa 20 | F= | e
11 1 1 1604 30 G 4
12 1 1852 31 [ D 6
13 1 1 237 32 4
14A 1 1024 33 @ 4
14B % 5 1024 34 == 5
15 1 1604 35 | 88 | 4
16 ﬂ 2 1666 36 @ 117 | M6X10
17 4 242 37 @‘, 121 M6




Partno.| Part&Hardvare | Qty. |Description(mm)
38 18 M5X10
39 18 M5
40 1
41 6 M3X6
42 16
43 28 810
44 || 28 | 1050
45 24 | 208
46 2 | 208X112
a7 | =1 | 2 810
a8 | [_—_1 |2 810

49 | ——1 2 1050
50 6 1255
51 | | 8 1626
52 24 M4X10
53 4 M6X35
54 4

55 6




i

27

&

27-(x8PC)
5-(x1PC)
6 -(x2PC)
7 -(x2PC) »
36-(x20PC)
25 -(x1PC) 37-(x20PC)
8 -(x2PC) ;21,3 'FX;EB 31-(x6PC) 26-(x6PC)
-(X
1-(x1PC) 2 14A Q
2-(X7PC) 14B
3-(x1PC)
4-(x1PC)
28-(x6PC)
16-(x1PC) &
17-(x4PC) 36-(x70PC)
18-(x2PC)
12-(x1PC) L 37-(x70PC)
1| [ =
43-(x28PC) 44-(x28PC) 45-(x24PC) 46-(x2PC) 49-(x2PC)
41-(x6PC)

]

21-(x2PC)
22-(x2PC)
23-(x1PC)




15-(x1PC) s
-(X
[ — ]
13-x1PC) 47-(x2PC)
) .
36-(x12PC) 48-(x2PC)
(A
W
37-(x12PC)
_H| 5 -
19-(x2PC) 19 20
20-(x2PC)
\\ ©
39-(x8PC)
50-(x6PC) -
20
33-(x4PC) l30'—/_(x4pc)
10
10
T e -
9A-(x2PC)
42-(x16PC)
9A 9B |lleg 9
. 51 51
9B-(x1PC)
51-(x8PC)
9C-(x1PC) _ 10
—F3 ry puia(l
10-(x4PC) 35-(x4PC) 52-(x24PC)




1-(x1PC) Q
2-(x1PC)
3-(x1PC)
3eg 27-(x8PC)
—
5-(x1PC) @
—| 6-(x2PC)
|T 7-(x2PC) 36-(x28PC)
©
. 37-(x28PC)
25
A,
7
p—
36-37

8-(x2PC)

_H

12-(x1PC)

®)

"

v

¢

36-(x9PC) 26-(x1PC)
T
37-(x9PC) 28-(x2PC)
A 12 B 8
\ 7
%@ /
28




—

16-(x1PC)
17-(x2PC)
18-(x4PC)

®

36-(x15PC)

©

37-(x15PC)

A

1,2,3,4

16-17

45-(x24PC)

46-(x2PC)

46

45




43-(x14PC)

L W O O W O W W W W
LN W W W W W

[

43-(x14PC)

[

[

[ [ T ]

il

s/




@
— | ; %m‘
49-(x2PC)
A
49 N
\
1 1 4 @
44-(x28PC) —] %w
VAR
\ j
-
B
=
=
]
=
-
| —
A B




A B A
1 4A a A n
4 N1 %w
36-(x11PC) . :
c EH——
- C
A B C
36
@®
36
36
1,2,3,4 12 8
14A-(x1PC) byt ww
14B-(x1PC)
15-(x1PC) 1 5 _ ?6
1 I /
i %= /
11-(x1PC) ] ?
L ?
»| H—F
L [ —]
i [ —]
36-(x18PC) | ?
/
=
A 14A-14B

W

©
36-37

10




= .ol N
31-(x4PC) B i ey % M‘
T =
1 /
26-(x3PC) | ?
L1 /
L1 /
a -
28-(x2PC) ? .,/@
E — ? \\v
= — 37-(x27PC)

47-(x2PC)

[ — ]

48-(x2PC)

34-(x2PC)

NN

11




36-(x16PC)
2
N
37-(x18PC)

17

W

<

= 00
=

13-(x1PC)

15-(x1PC)

36-(x4PC)

26-(x2PC)
28-(x2PC)

§

31-(x2PC)

12



36-(x4PC)
<\
Ny
37-(x8PC)

ERATTAARAY
AT

IR\ e .
\\Vf/ \\
- N\ /
(J/
) ”m/

A\NY WY

1

%

<C b

19
20

] )
53-(x4PC)

32-(x4PC)
24-(x1PC)

29-(x6PC)

36-(x16PC)
N
Ny

37-(x16PC)

54-(x4PC)

13




19-(x2PC)
20-(x1PC)

N

30-(x2PC)

»

38-(x18PC)

Q)

39-(x18PC)

e

50-(x6PC)

14




= L

30-(x2PC)

= 23

38-(x7PC)

N
@l > B
39-(x7PC) A

A B
38-(x10PC) 2 I A
- A
@‘I B
39-(x10PC)
A
A A

e

G

15




< 25 B

I Q>

52-(x12PC)

9A-(x2PC)

=V

9B-(x1PC)
9C-(x1PC)

_E 3

10-(x4PC)

L ]

51-(x8PC)

35-(x4PC)

e}

42-(x16PC)

16




40-(x1PC)
55-(x6PC)
40

A )

[T

'\

V11]

L

52-(x12PC)

27

EH
i

==
A\

~
—|) 1
|

i

/
N

h
VLT

17



18




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19

